
Adding Integers (C)
Name: Date: Score:

Calculate each sum.

98 + (−85) =

70 + (−89) =

−84 + (−76) =

−89 + (−83) =

91 + 84 =

−55 + 87 =

−73 + 92 =

−77 + 37 =

94 + (−99) =

−94 + 99 =

−83 + (−88) =

−75 + (−87) =

76 + 80 =

−71 + 11 =

−93 + (−76) =

94 + 85 =

−76 + 41 =

−71 + 78 =

−88 + (−22) =

21 + 58 =

−82 + (−89) =

−88 + (−93) =

−87 + 91 =

−82 + (−71) =

−93 + 99 =
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Adding Integers (C) Answers
Name: Date: Score:

Calculate each sum.

98 + (−85) = 13

70 + (−89) = −19

−84 + (−76) = −160

−89 + (−83) = −172

91 + 84 = 175

−55 + 87 = 32

−73 + 92 = 19

−77 + 37 = −40

94 + (−99) = −5

−94 + 99 = 5

−83 + (−88) = −171

−75 + (−87) = −162

76 + 80 = 156

−71 + 11 = −60

−93 + (−76) = −169

94 + 85 = 179

−76 + 41 = −35

−71 + 78 = 7

−88 + (−22) = −110

21 + 58 = 79

−82 + (−89) = −171

−88 + (−93) = −181

−87 + 91 = 4

−82 + (−71) = −153

−93 + 99 = 6
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